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Question Number : 1 Question Id : 87827044245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Viruses are

1. Obligate parasites

2. Facultative saprophytes

3. Obligate saprophytes

. Both parasites and saprophytes

F =N

Options :

878270173841. 1
878270173842. 2
878270173843.3

878270173844. 4

Question Number : 1 Question Id : 87827044245 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270173841. 1
878270173842. 2
878270173843. 3

878270173844. 4

Question Number : 2 Question Id : 87827044246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who described microorganisms as 'wee animalcules' in his letter to Royal Society of London?

1. Robert Hook

2. Roger Bacon

3. Antony van Leeuwenhoek
4 Louis Pasteur

Options :

878270173845. 1
878270173846. 2
878270173847. 3

878270173848. 4

Question Number : 2 Question Id : 87827044246 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270173845. 1
878270173846. 2
878270173847.3
878270173848. 4

Question Number : 3 Question Id : 87827044247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect about the bacteria?

1. They belong to kingdom Monera.

2. All bacterial cells are uniform in shape and size

3. Cyanobacteria are autotrophs.

4 Archaebacteria can survive in some extremely harsh habitats.

Options :

878270173849. 1
878270173850. 2
878270173851. 3

878270173852. 4



Question Number : 3 Question Id : 87827044247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270173849. 1
878270173850. 2
878270173851. 3

878270173852. 4

Question Number : 4 Question Id : 87827044248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match the following protozoa with their taxonomic groups:

List-| List-ll

(A). Entamoeba hystolytica|(l). Sporozoans

(B). Trypanosoma (). Ciliophora
(C). Paramecium (II1). Mastigophora
(D). Plasmodium (IV). Sarcodina

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (II), (C) - (1l1), (D} - (IV)
2. (A) - (1), (B) - (1), (C} - (1), (D) - (IV)
3. (A) - (IV), (B) - (IN, (C) - (1), (D) - (1T}
4. (A) - (IV), (B) - (111}, (C) - (1), (D) - (1)

Options :

878270173853. 1
878270173854. 2
878270173855. 3

878270173856. 4

Question Number : 4 Question Id : 87827044248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. A) - (1), (B) - (1), (C) - (I), (D) - (IV)
2. (A) - (1), (B) - (lT), (C)- (1), (D) - (IV})
3. (A) - (IV), (B) - (1), (C) - (1), (D) - (Il1)
4. (A) - (IV), (B) - (11, (C) - (1), (D) - (1)

Options:

878270173853. 1
878270173854. 2
878270173855. 3

878270173856. 4

Question Number : 5 Question Id : 87827044249 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Mushrooms and puffballs belongs to ...................... class of fungi.

1. Ascomycetes

2. Basidiomycetes
3. Phycomycetes
4 Deuteromycetes

Options :

878270173857. 1
878270173858. 2
878270173859. 3

878270173860. 4



Question Number : 5 Question Id : 87827044249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270173857. 1
878270173858. 2
878270173859. 3

878270173860. 4

Question Number : 6 Question Id : 87827044250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The plaque assay is used for quantification of:

1. Bactena

2. All microorganisms
3. Bacteriophages

4. Extremophiles

Options :
878270173861. 1
878270173862. 2

878270173863. 3



878270173864. 4

Question Number : 6 Question Id : 87827044250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270173861. 1
878270173862. 2
878270173863. 3
878270173864. 4
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll
(A).Lichens (I). Protein coat called capsid protects nucleic acid
(B).Viroids (II). Completely lack cell wall and smallest living cell

(C).Bacteriophage [(lll). Good pollution indicators

(D).Mycoplasma  |(IV). A free RNA lacking protein coat

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV}

2. (A) - (I, (B) - (1), (C) - (1), (D) - (IV)

3. (A) - (I, (B) - (1), (C) - (IV), (D) - (1)

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (I1)
Options :

878270173865. 1
878270173866. 2
878270173867. 3
878270173868. 4

Question Number : 7 Question Id : 87827044251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1.(A) - (1), (B) - (IN), (C) - (li), (D) - (IV)
2. (A) - (lln), (B) - (IN), (C) - (1), (D) - (IV)
3. (A) - (i), (B) - (1IN, (C) - (IV), (D) - ()
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options :

878270173865. 1
878270173866. 2
878270173867. 3

878270173868. 4

Question Number : 8 Question Id : 87827044252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a mutagen?

1. lomizing radiation

2. Ethyl methane sulfonate
3. 5- Bromouracil

4 EDTA

Options :
878270173869. 1
878270173870. 2

878270173871. 3



878270173872. 4

Question Number : 8 Question Id : 87827044252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270173869. 1
878270173870. 2
878270173871.3
878270173872. 4

Question Number : 9 Question Id : 87827044253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following kinds of organism/s in ecosystem is/are considered as decomposers?

1. Fungi
2. Viruses
3. Plants
4 Lichens

Options :
878270173873. 1

878270173874. 2



878270173875. 3

878270173876. 4

Question Number : 9 Question Id : 87827044253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270173873. 1
878270173874. 2
878270173875. 3

878270173876. 4

Question Number : 10 Question Id : 87827044254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not used as seed inoculant for cereal crops?

1. Azotobacter

2. Rhizobium

3. Bacillus polymyxa
4. Streptocoocus

Options :

878270173877. 1



878270173878. 2
878270173879. 3

878270173880. 4

Question Number : 10 Question Id : 87827044254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270173877. 1
878270173878. 2
878270173879. 3

878270173880. 4
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Recombinant DNA Technology for gene transfer has following sequence of steps
(A).Fragmentation of DNA by restriction endonucleases

(B).Isolation of desired DNA fragment and its ligation into a vector

(C).Isolation of DNA

(D). Transfer of recombinant DNA into a host and culture of host cells in a medium at large scale

Choose the correct answer from the options given below:

Options :

878270173881. 1
878270173882. 2
878270173883. 3

878270173884. 4
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270173881. 1
878270173882. 2
878270173883. 3

878270173884. 4

Question Number : 12 Question Id : 87827044256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not an abiotic component of the ecosystem?

1. Water

2. Climatic conditions
3. Algae

4 Inorganic substances

Options:
878270173885. 1

878270173886. 2



878270173887. 3

878270173888. 4

Question Number : 12 Question Id : 87827044256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270173885. 1
878270173886. 2
878270173887. 3

878270173888. 4

Question Number : 13 Question Id : 87827044257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of Barr body/bodies found in XXXY individual

1.1
2.2
33
4. Nil

Options :
878270173889. 1

878270173890. 2



878270173891. 3

878270173892. 4

Question Number : 13 Question Id : 87827044257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

XXY g H UiT o[- aIc & Slai/siand & ST

1.1
2.2
3.3

4 3

Options:

878270173889. 1
878270173890. 2
878270173891. 3
878270173892. 4

Question Number : 14 Question Id : 87827044258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps in formation of Pre-initiation complex in correct order
(A).TBP binds to TATA box and TFIA binds DNA upstream of TATA box

(B). TFIIE then THIIH bind forming the pre-initiation complex.

(C).TFIIB interacts with TBP

(D). RNAP Il and TFIIF join the other proteins at the promoter.

Choose the correct answer from the options given below:

(B).
(D).
(A).
(C).

1. (A), (C), (D)
2. (A), (B), (C

)
3. (B), (D), (C)
4_(B), (D), (A)

Options :

878270173893. 1
878270173894. 2
878270173895. 3

878270173896. 4

Question Number : 14 Question Id : 87827044258 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270173893. 1
878270173894. 2
878270173895. 3

878270173896. 4

Question Number : 15 Question Id : 87827044259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following interactions plays an important rele in protein folding?

1. Van der Waals forces
2. Disulfide bonds

3. Peptide bond

4 Amide bond

Options:
878270173897. 1

878270173898. 2



878270173899. 3

878270173900. 4

Question Number : 15 Question Id : 87827044259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270173897. 1
878270173898. 2
878270173899. 3

878270173900. 4

Question Number : 16 Question Id : 87827044260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Enzymes accelerate the rate of cellular reactions by

1. Increasing the activation energy

2. Increasing the specificity of the substrate.
3. Lowering the activation energy

4 Destabilizing transition-state intermediates.

Options :
878270173901. 1

878270173902. 2



878270173903. 3
878270173904. 4

Question Number : 16 Question Id : 87827044260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270173901. 1
878270173902. 2
878270173903. 3

878270173904. 4
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Match List-l with List-ll

List-I List-lI

(A)Alleles (1). an inherited character

(B). Trait (11). a particular segment of DNA responsible for the inheritance of a character

(C). Gene (). two or more alternative forms of a gene

(D). Recessive((IV). an allele not expressed in the presence of dominant allele

Choose the correct answer from the options given below:

1. (A) - (11), (B) - (1), (C) - (1), (D) - (V)

2. (A)- (1), (B) - (II), (C) - (1), (D) - (V)

3. (A)- (), (B) - (1), (C) - (In), (D) - (V)

4. (A)- (i), (B) - (IV), (C) - (1), (D) - (II)
Options :

878270173905. 1
878270173906. 2
878270173907. 3

878270173908. 4

Question Number : 17 Question Id : 87827044261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.(A) - (I1), (B) - (111}, (C) - (1), (D) - (IV))
2. (A)- (), (B) - (1), (C) - (1), (D) - (IV)
3. (A)- (I, (B) - (1), (C) - (1), (D) - (IV)
4. (A) - (llN), (B) - (IV), (C) - (1), (D) - (I1)
Options :

878270173905. 1
878270173906. 2
878270173907. 3

878270173908. 4

Question Number : 18 Question Id : 87827044262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Test cross is a cross of B4 progeny with

1. Homozygous recessive individual
2. Heterozygous recessive individual
3. Homozygous dominant individual
4 Heterozygous dominant individual

Options :

878270173909. 1
878270173910. 2
878270173911. 3
878270173912. 4



Question Number : 18 Question Id : 87827044262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270173909. 1
878270173910. 2
878270173911. 3

878270173912. 4

Question Number : 19 Question Id : 87827044263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A colourblind person cannot differentiate between

1. Red and yellow
2. Red and blue

3. Red and green
4 Purple and green

Options :
878270173913. 1
878270173914. 2

878270173915. 3



878270173916. 4

Question Number : 19 Question Id : 87827044263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270173913. 1
878270173914. 2
878270173915. 3
878270173916. 4
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Match List-l with List-ll

List-I List-II

e of
(P (Position of centromere)
chromosome)

(A). Metacentric  |(I). Chromosome has a terminal centromere

(B). Acrocentric  |(II). Chromosome has middle centromere forming two equal arms

(C). Sub

) (I11). Centromere is present close to one end forming one very long and other very short arm
metacentric

(IV). Centromere is present slightly away from the middle of the chromosome forming one shorter and

(D). Telocentric
other longer arm

Choose the correct answer from the options given helow:

1.(A)-
2.(A)-
3. (A)-
4.(A)-

), B)- (1), (C)- (), (D)- (V)
1), (B)- (1), (C)- (V) (D) - (1)
1), (B)- (1), (C) - (IV), [D) (1)
), B)- (IV), (C) - 1), (D) - (1)

,.-H,FH,FH,FH
e i

(
(
(
(

Options:

878270173917. 1
878270173918. 2
878270173919. 3

878270173920. 4

Question Number : 20 Question Id : 87827044264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Tdl-| & 1Y G-Il &1 e &9

| Tt

(TREA 1 9O (H5P 01 (4fd)

(A)Herdice (1) TUREA # U S g g1l ©

(B)UMIETEE  |(Il) TURGH § He g &icl & 91 &l GAF Yo & &

(C) 9 FERiea (1) HEIHR TP BR & S48 AING 610 & s U Ml §gq 181 3R G 880 S1| 6l &
(0) eTEE  |(v) SR U & i 9 i g Hivgg g & o O e BT R gl e o B ¢
i 6T T fadedl 5 & F6l IR |

1 (A)-
2 (A)-
3 (A)-
4 (A)-

(B) - (1), (C) - (IIl), (D) - (IV
}{} (I, (C) - (1v), (D) - (
(B) - (1), (C) - (IV), (D) - (Il
||)() (V). (C) - (1), (@) - (1

Plaitf R S et S s

)
)
)
)

Options :

878270173917. 1
878270173918. 2
878270173919. 3

878270173920. 4

Question Number : 21 Question Id : 87827044265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-I

(A). Syphilis

(). Mycobacterium

(B). Kala azar

(II). Corynebacterium

(C). Tuberculosis|(l11)

_Leishmania

(D). Diphthena

(IV). Treponema

Choose the correct answer from the options given below:

1. (A) - (), (B) - (1), (C) - (111}, (D) - (IV)

2. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

3. (A) - (1), (B) - (llN), (C} - (IV), (D) - (1)

4. (A) - (IV), (B) - (I11), (C) - (1), (D) - (11}
Options :

878270173921. 1
878270173922. 2
878270173923. 3

878270173924. 4

Question Number : 21 Question Id : 87827044265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A1 & H1Y G-Il BT e Y

- LAl
(A) Faftefera 0 Wﬁaﬂﬁr
(B) =ICaIR (1) &

(C) Tule® (1) Fp?ﬂﬁi?’
(D) F&ehifam @ @) (1v) ai=aT
-d feu TTe fad gl § © 98! 3w |

1. (A) - (1), (B) - (1), (CJ—U”J-(D}-{W}
2. (A) - (I1), (B) - (111), (C) - (1}, (D) - (IV)
3. (A) - (1), (B) - (11}, {C} (IV), (D) - (I1)
4. (A) - (IV), (B) - (1), (C) - (1}, (D) - (11}

Options:

878270173921. 1
878270173922. 2
878270173923. 3

878270173924. 4

Question Number : 22 Question Id : 87827044266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statement/s is true for cell membraneg?

{A).It is composed mainly of lipids.

(B).Its fluid nature is important for cell growth, endocytosis, cell division etc.
(C).Fluid mosaic model of its structure was given by Griffith

(D).lts one of the important function is transport of molecules across it.
Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), and (D) only.

3. (A), (B), (C) and (D).
4 (B), (C)and (D) only

Options :

878270173925. 1
878270173926. 2
878270173927.3

878270173928. 4

Question Number : 22 Question Id : 87827044266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fgfciad § ¥ @H 98 &Y DIk el & U 981 /82
(A) T8 71 &0 ¥ fafisu 4 s 2
(B) 3UD! 5d Uhld DIRIDI 3l - HIbdl, HIRD1 e ofe & e agaqul 21

(C) 3! W= & R Gviw Aisd by grI e mar ut

(D) 3P ARUR A BT GRde TUP1 U Heaqul & 3
i e 71U fgoedl § § 921 IR IH|

1. &ad (A), {E)ai‘r{cn)
z_mm AR (D

3. (A), (B), rcna?‘ru D).
4 ®ad (B), (C) 3R (D)

Options :

878270173925. 1
878270173926. 2
878270173927.3

878270173928. 4

Question Number : 23 Question Id : 87827044267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Psychrophilic algae responsible for imparting the red coloration to snowfields Is:

1. Chlamydomonas nivalis
2. Pseudomonas aeruginosa
3. Porphyra

4 Serratia

Options:
878270173929. 1

878270173930. 2



878270173931. 3

878270173932. 4

Question Number : 23 Question Id : 87827044267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g & HeHE! & ard 11 23 & e fomier Fgaufig Jad &

FIHZSIFATY [Harfad
RISTHIT T A1)

o S e

Options:

878270173929. 1
878270173930. 2
878270173931. 3

878270173932. 4

Question Number : 24 Question Id : 87827044268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Crossing over occurs during ... stage of prophase 1 of meiosis.

1. Leptotene
2. Zygotene

3. Pachytene
4 Diakinesis

Options :
878270173933. 1

878270173934. 2



878270173935. 3

878270173936. 4

Question Number : 24 Question Id : 87827044268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i~

i fafag, ol faured &1 gala®ii1 & . 3faR & qH sidl &

1. I19
2 T

[=

3. ¥4

o
L

4. SHfE-aY

Options:

878270173933. 1
878270173934. 2
878270173935. 3

878270173936. 4

Question Number : 25 Question Id : 87827044269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The sequence of phases in cell cycle is

{A).M phase

(B).Gl phase

(C).G2 phase

(D).5 phase

Choose the correct answer from the options given below:

), (B), (C), (D)
), (D), (C), (A)

(A), (D), (C)
), (B), (D), (A)

Options :

878270173937. 1
878270173938. 2
878270173939. 3

878270173940. 4

Question Number : 25 Question Id : 87827044269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HITRIHT Th H TR0 BT A o
(A) M TR

(B) GI =T

(C) G2 g

(D) S {0

=td fau e fadedl & ¥ 981 SR 4|

1. (A), (B), (C), (D)

2. (B), (D), (C). (A)

3. (B), (A). (D), (C)

4. (C), (B), (D), (A)
Options :

878270173937. 1
878270173938. 2
878270173939. 3

878270173940. 4

Question Number : 26 Question Id : 87827044270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The lag phase in a bacterial growth curve does not occur under which of the following conditions?

1. When inoculum is taken from an old culture.

2. When inoculum is taken from a frozen culture

3. When optimum temperature and pH conditions are provided.

4 When inoculum is from exponentially growing cells growing under similar conditions

Options:
878270173941. 1

878270173942. 2



878270173943. 3
878270173944. 4

Question Number : 26 Question Id : 87827044270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SiaTY] [a T ds6 H 3feRTe @R [FHafeied & 9 foy fufd 5 =27 giar 82

9 WY & U R G T o <irn 2

Fd WY &l 91 gu gy T o o 8

Sd SPAH YA R pH Rufagi TeM &1 Wkl 8

9 W 9aH aRRfogl § 950 9 9ed! Sifersi 9 gkl e

B T o

Options:

878270173941. 1
878270173942. 2
878270173943. 3

878270173944. 4

Question Number : 27 Question Id : 87827044271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the true statements about psychrophiles.

(A). Their enzymes have greater amounts of beta-sheet secondary structure.

(B). Their cytoplasmic membranes have higher content of unsaturated fatty acids.
(C). Their enzymes have greater polar amino acid content.

(D). Their transport proteins function at low temperatures

Choose the correct answer from the options given below:

1. (B), (C) and (D) only
2. (B)and (C) only.
3. (A), (B), (C)and (D).

4 (A), (C)and (D) only

Options :

878270173945. 1
878270173946. 2
878270173947.3

878270173948. 4

Question Number : 27 Question Id : 87827044271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRAT & IR H FE HYT I
(A) 3 UogHl H dter-gie fadas e &f /6 S gidl el

(B) 3! DIRIBI-5 fareel H Hrqd 997 3% D A6 HfHS Sidi B

(C) I TezHl # i i ofys &1 An ife Bt B

(D) 3T URas UicH &H algaH IR &1 $d 6 |

=td fau e fadedl & ¥ 981 SR 4|

1.%ad (B), (C) 3R (D)
2 @dd (B) 3R (C)

3. (A), (B), (C) 3R (D)
4. @ad (A), (C) 3R (D)

Options :

878270173945. 1
878270173946. 2
878270173947.3

878270173948. 4

Question Number : 28 Question Id : 87827044272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The capsid symmetry of poxviruses is:

1. Helical

2. lcosahedral
3. Complex

4 Binal

Options:
878270173949. 1

878270173950. 2



878270173951. 3
878270173952. 4

Question Number : 28 Question Id : 87827044272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iadrayy @] ¢ids Y9%Ydl 39 UPR &

2. f[duBdsl
4 SreAd

Options:

878270173949. 1
878270173950. 2
878270173951. 3

878270173952. 4

Question Number : 29 Question Id : 87827044273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is correct?

1. The terminal electron acceptor in anaerobic respiration is CO; only.
2. Fermentation involves an internal inorganic electron acceptor.

3. Aerobic respiration involves complete oxidation of sugars

4 The energy yield in anaerobic respiration and fermentation is same.

Options :
878270173953. 1

878270173954. 2



878270173955. 3
878270173956. 4

Question Number : 29 Question Id : 87827044273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafed & 9 o 91 Y 98 82

1. HdYg 49 ¥ 3ifaH IoiaeH UeUiddl ddd CO, &

2. fohueH § U HidR® HPEHS Seidg- WibRS AN aidl o
3. A1 4T H Yaox] BT ol HTHiDhRo M o

4. 3{dTg 4T AR fbva H FHoll &1 Ius GHHE Bl o

Options:

878270173953. 1
878270173954. 2
878270173955. 3

878270173956. 4

Question Number : 30 Question Id : 87827044274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a professional APC?

1. CD4+ T cell
2. Macrophage
3. Eosinophil
4 Mast cell

Options :
878270173957. 1

878270173958. 2



878270173959. 3
878270173960. 4

Question Number : 30 Question Id : 87827044274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafRad 3 9 @19 91 te UZiaR il (APC) 872

1.CD4 + T DIfRIPT
2. AgTHE®
3. TR

Options:

878270173957. 1
878270173958. 2
878270173959. 3

878270173960. 4

Question Number : 31 Question Id : 87827044275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the separation of DNA by electrophoresis which of the following methods is used

1. Agarose- horizontal
2. Agarose-vertical
3. PAGE-horizontal
4 SDS-PAGE-vertical

Options :

878270173961. 1



878270173962. 2
878270173963. 3

878270173964. 4

Question Number : 31 Question Id : 87827044275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

deUAPURTTH gRI 9. T4, T & GYadaUl o oY Hgfciad & 9 food fafdl &1 3w i =il &

2. RG-SR

Options:

878270173961. 1
878270173962. 2
878270173963. 3
878270173964. 4

Question Number : 32 Question Id : 87827044276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which pathway replaces TCA cycle when E. coli is grown on acetate as the only carbon source?

1. Calvin cycle

2. ED pathway

3. Glyoxylate pathway

4 Pentose phosphate pathway

Options :

878270173965. 1



878270173966. 2
878270173967. 3

878270173968. 4

Question Number : 32 Question Id : 87827044276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DA G IHH S @ T T B oI Ol § 99 3. i Bl TUICe TR THHE Be- Wi & 0 H ST el 57

1 e 99
2 33 TUHH
3 TR WFE

Options:

878270173965. 1
878270173966. 2
878270173967. 3

878270173968. 4

Question Number : 33 Question Id : 87827044277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dissimilatory nitrate reduction takes place under:

1. Strict anaerobic conditions
2. Strict aerobic conditions

3. Microaerophilic conditions
4 Acidic conditions

Options :



8782701739609. 1
878270173970. 2
878270173971. 3

878270173972. 4

Question Number : 33 Question Id : 87827044277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fefafeied Argee =g & 3fTld gl &

1. quf sfaradia oRfRufaat
3. AIE® Rifklae gl

Options :

878270173969. 1
878270173970. 2
878270173971. 3

878270173972. 4

Question Number : 34 Question Id : 87827044278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Wobble hypothesis refers to the less stringent base pairing specifity of the

_ 5"-end base of the anticodon
~ 5"-end base of the codon

- 3-end base of the anticodon
- Middle base of the anticodon

A

Options :



878270173973. 1
878270173974. 2
878270173975. 3

878270173976. 4

Question Number : 34 Question Id : 87827044278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

digd U@ g Y AR AR g fafiyd & Yeftla oidi e

1. Ufdplsd &1 5 '-3id MR
2 ®IBH P15 "-3id MYR
3. Ufd®IsH &1 3 '-3fd SHTUR
4. Ufa®IS1H &I 38 YR

Options :

878270173973. 1
878270173974. 2
878270173975. 3

878270173976. 4

Question Number : 35 Question Id : 87827044279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GUG codes for valine in both prokaryotes and eukaryotes but when GUG is initiation codon, it codes for

1. Tryptophan
2. Methionine
3. Valine
4 Proline

Options :



878270173977. 1
878270173978. 2
878270173979. 3

878270173980. 4

Question Number : 35 Question Id : 87827044279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5! 3R GU® Gl & Aol o (o0 ool BIS 3Tl &, Al wa i JRe BIgH &id) 3, 3 35 90 oy afs

=3
Al g

1. \-C- :jj"!

4, T

Options :

878270173977. 1
878270173978. 2
878270173979. 3

878270173980. 4

Question Number : 36 Question Id : 87827044280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps involved in bacterial transformation in correct order :
(A). Pairing followed by integration of transforming DNA

(B). Generation of a transformed cell.

(C). Binding and entry of extracellular DNA into the competent cell.

(D). Degradation of one strand of transforming DNA.

Choose the correct answer from the options given below:

1. (A), (B), (C), (D).

2. (C), (D), (A), (B).

3. (B), (A), (D), (C).

4 (C), (B), (D), (A).
Options :

878270173981. 1
878270173982. 2
878270173983. 3

878270173984. 4

Question Number : 36 Question Id : 87827044280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT EicRy § Wi Fafafad ol @f 9el $9 § oaid o

(A) T & UYTd TUIGRURIT ST & IHH

(B) uRafdd BT & Idf

(C) G&[ DIHT H 91g] DI 3. T, T T 94 3R UaT

(D) EYIARURA ST & Ud o PI HTgc

=td fau e fadedl & ¥ 981 SR 4|

1. (A), (B), (C

2 (C), {D}-. (A
3. (B), (A), (D

4 (C), (B), (D

(D
(B
(C
(A

). (D)
). (B)
), (C)
). (A)
Options :

878270173981. 1
878270173982. 2

878270173983. 3

878270173984. 4

Question Number : 37 Question Id : 87827044281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-I

( Protein) ( Function)
(A). Trypsin |(1). A hormone

(B).Collagen|(ll). Enables glucose transport into cells

(C). Insulin |(lll). An enzyme

(D). GLUT-4|(IV). Intercellular ground substance

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})
2. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}
4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)

Options :

878270173985. 1
878270173986. 2
878270173987. 3
878270173988. 4

Question Number : 37 Question Id : 87827044281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl-1 & 1Y G-Il &1 FeE &

it -1l
(W) (word)
AR o) smiE
(B)FwT  |(Il) B & ey uRas & 94T Sl o
©)sgRm () TETsH

(D) SEEEl-4|(1IV) SidamiRreta s genrf
T T et 7 @ 98 IR I

1. (A) - (1), (B) - (In), (C) - (1l

), (D) - (IV)
2 (A) - (lll), (B) - {||) (C) - (1),

),

(I

(

(D) - (IV)
(D) - (11)
(1), (D) - (1)

3. (A)- (), (B) - (IN), (C) - (IV
4. (A) - (i), (B) - {WJ (C) -

Options:

878270173985. 1
878270173986. 2
878270173987. 3

878270173988. 4

Question Number : 38 Question Id : 87827044282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct sequence of enzyme action is

(A).Binding of substrate induces the enzyme to alter its shape

(B).Binding of substrate to active site of an enzyme,

(C).Breaking of chemical bonds of substrate and formation of new enzyme -product complex
(D).Products of reaction are released by enzyme.

Choose the correct answer from the options given below:

Options :

878270173989. 1
878270173990. 2
878270173991. 3
878270173992. 4

Question Number : 38 Question Id : 87827044282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T=olTsH ford1 &1 U8l 35 &

(A) FOTUR &1 4 T95H &I 304 HR @I dao & oL URd $dl o

(B) U UWIIZH & Afehd Td & T 1R &1 944,

(C) TFaTUR & IS §eH1 @1 g1 3R U TaEH-3dTE URER &1 A0

(D) #fHfear & Idrg UoEH gR1 ol fit 9 |

=td fau e fadedl & ¥ 981 SR 4|

1. (A), (B). (C),
2. (B), (A), (C),
3. (B), (A), (D),
4. (C), (B), (D),

(C), (D)
(D)
(C)
(A)
Options :

878270173989. 1
878270173990. 2
878270173991. 3

878270173992. 4

Question Number : 39 Question Id : 87827044283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the correct statements with reference to cofactors of enzymes

(A).They are non-protein constituents of enzymes that bound to enzyme to make it catalytically active,
(B). Prosthetic groups are tighly bound to apoenzymes,

(C). The protein part of an enzyme is called apoenzyme,

(D). Coenzyme NADP contains vitamin niacin.

Choose the correct answer from the options given below:

1.(A),
2. (A),
3. (A),
4.(B),

B) and (D) only.
B) and (C) only.
B), (C)and (D).
C)and (D) only

(
(
(
(
Options :

878270173993. 1
878270173994. 2
878270173995. 3

878270173996. 4

Question Number : 39 Question Id : 87827044283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UoEHl & 98-ORa! & UgY H Tl HYH! &1 I9- Y
A) 3 UGS & RIS 9o ¢ o 38 SRS TU T I 1 & o tesA 4 §9 5id &

(B) Wi Tig TAteS 4 §Y 8ld &

(C) T3 & UIdH U &I TUITSI3A &l ofidl &
D) BITSEH THESIG (NADP ) # faerfem e giar &
id feu e fgwed! © Q4 W8l TR

1. ®ad (A), (B) IR (D)
QW{A (B) R (C)

3. (A), (B), (C) #R (D)
4 &ad (B), (C) 3R (D)

Options :

878270173993. 1
878270173994. 2
878270173995. 3
878270173996. 4

Question Number : 40 Question Id : 87827044284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a function of the human microbiome?

. synthesis of vitamin B12

. Providing immunity

. Protects against disease causing microbes
_ Secretion of insulin

B T B o

Options:
878270173997. 1

878270173998. 2



878270173999. 3

878270174000. 4

Question Number : 40 Question Id : 87827044284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafad 3§ 9 &9 91 9Hd A3 i9diE & &1 o) 82

1. faerf®= B12 &1 I=ayy

2. I UieRIY® &l UGH Bl

3. AT Ual & ardd Ao T S4rdl
4. 3T 191G

Options:

878270173997. 1
878270173998. 2
878270173999. 3

878270174000. 4

Question Number : 41 Question Id : 87827044285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Asingle nucleotide pair is inserted near the 5-end of a protein coding DNA sequence. The most likely effect will be
production of

1.a protein with a single altered amino acid

2. a protein with an almost completely altered sequence
3. a highly truncated protein

4 no protein

Options :



878270174001. 1
878270174002. 2
878270174003. 3

878270174004. 4

Question Number : 41 Question Id : 87827044285 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T BIe] ST M o 53R & 1 U Uha [aediergs 3 W1ap (ot ol 31 e ftp it g

1. T URale i o aen e
. T ) e & Rl ok & T W e
4 PR URH T

Options :

878270174001. 1
878270174002. 2
878270174003. 3

878270174004. 4

Question Number : 42 Question Id : 87827044286 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



When a mutational event leads to the replacement of one codon for another coding for the same amino acid, the resulting
mutation is called

1. Frameshift mutation
2. Neutral mutation

3. Missense mutation
4 Silent mutation

Options :

878270174005. 1
878270174006. 2
878270174007. 3

878270174008. 4

Question Number : 42 Question Id : 87827044286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W4 W JGH 9] T g UHl TS o ot R ife o ot U leid o WeIuH a1 R o ik €, il GOl
JARGH Pl Fgl I

1. R FAREH
4 T JaRaH

Options:

878270174005. 1
878270174006. 2
878270174007. 3

878270174008. 4

Question Number : 43 Question Id : 87827044287 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List-l with List-ll

List-l List-ll

( Mutagen/Agent) (Function )
(A).Clastogen (). causes fragmentation of chromosome
(B).Oncogen (Il).induces tumor formation
(C). Teratogen (lI1).result in developmental abnormalities
(D). Ethyl methane sulphonate|(IV). alkylating agent

Choose the correct answer from the options given below:

1.(A) - (1), (B) - (II), (C) - (1l1), (D} - (IV)

2. (A) - (I1), (B) - (1), (C) - (1), (D) - (IV)

3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}

4. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)
Options :

8782701740009. 1
878270174010. 2
878270174011. 3

878270174012. 4

Question Number : 43 Question Id : 87827044287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-l & Y -1 BT B

- -1l
(FARTdSHIPR®) |(WHT)
(A) FAETYS (1) TONF & 98 &1 HRU &aT &
(B) 3fEaH (i) =gR & Fmior & iivg s=ar &
(C) S HEd SaeE |(1) faerares sramraars | ufom,
(D) T | HewHe| (V) Bfesaen aRe
e T eed A @ W8 SR I
1. (A) - (1), (B) - (IN), (C) - (1), (D} - (IV)
2. (A) - (I}, (B) - (D), (C) - (111, (D} - (IV)
3. (A) - (1), (B) - (1D, (C) - (IV), (D) - (llT)
4 (A) - (1), (B) - (IV), (C) - (1), (D) - (11}
Options :

8782701740009. 1
878270174010. 2
878270174011. 3

878270174012. 4

Question Number : 44 Question Id : 87827044288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statement/s is/are not true regarding significance of meiosis

(A).Itis @ mechanism by which conservation of specific chromosome number of each species is achieved across
generations in sexually reproducing organisms

(B). Increase genetic variability

(C).Decrease genetic variability

(D).Variations are not important for the process of evolution
Choose the correct answer from the options given below:

(A) and (B) only
C), and (D) only.
A), (B), (C)and (D).
)

1

2 (

3.(

4.(B), (C)and (D) only

Options :

878270174013. 1
878270174014. 2
878270174015. 3

878270174016. 4

Question Number : 44 Question Id : 87827044288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A % Mg & ey ¥ fcied 5 § o WA U T T

(A) 5 G T e G G o ) i 4 i e 5 g o e o e ) o i
oo 3|

(B) AT TREcRfc aei

() e e A &

(D) o ot e o fere Ot e 7 ol
A few o e 1 9 O SR T

1. %ad (A) 3R (B)
2%‘@(@13?&'
3.(A), (B), m:)a?‘r{ D)
4. %9 (B), (C) AR (D)

Options :

878270174013. 1
878270174014. 2
878270174015. 3

878270174016. 4

Question Number : 45 Question Id : 87827044289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The primary target of HIV is

1. RBCs

2. Thrombocytes

3. CD4+ T lymphocytes
4 B-cells

Options:
878270174017.1

878270174018. 2



878270174019. 3

878270174020. 4

Question Number : 45 Question Id : 87827044289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g AR 91 (HIV) &7 Uite as0 &

2. YIENSey
3 Uil + 3 forpiagey
4 &-D] %Eﬁz':i

Options:

878270174017. 1
878270174018. 2
878270174019. 3
878270174020. 4

Question Number : 46 Question Id : 87827044290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The sequence of steps for live recombinant vaccine production is
(A).Putting the cells in the presence of an inhibitor

(B). Transfection of newly created plasmid into previously infected host cells
(C).Formation of recombinant plasmid

(D).Expression of recombinant genes

Choose the correct answer from the options given below:

1. (A), (B), (C), (D).
2. (D), (B), (C), (A).
3. (B), (A), (D), (C).
4 (C), (B), (A), (D).
Options :

878270174021. 1
878270174022. 2
878270174023. 3

878270174024. 4

Question Number : 46 Question Id : 87827044290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Lo =

T GHaIe il 3G & feiU oull BT HH &

(A) T FRIY® BT I H SIAHT BT U9

Ii_\-\-\-

(B) Ugd ¥ U id Aol SIRI®ie # 94 Mt @ivas &1 95au

(C) [ gIoie @Ifes &1 A

(D) IS i &1 AT

=td fau e fadedl & ¥ 981 SR 4|

1. (A), (B), (C
2. (D), (B), (C
3. (B), (A), (D
(

4 (C), (B), (A

). (D
). (A
), (C
). (D

)
)
)
)
Options :

878270174021. 1
878270174022. 2
878270174023. 3

878270174024. 4

Question Number : 47 Question Id : 87827044291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an inhibitor of complex [V of ETC?

1. 1C5

2. DNP

+ FCEP
4 Cyanide

Options:
878270174025. 1

878270174026. 2



878270174027. 3

878270174028. 4

Question Number : 47 Question Id : 87827044291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafed § 9 o 91 58l & died IV BT FRU® g2

1. drdeg
2 Sieqd
3. UG

4 Hlg- 5-:.'

Options:

878270174025. 1
878270174026. 2
878270174027. 3

878270174028. 4

Question Number : 48 Question Id : 87827044292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Key enzyme of the ED pathway is:

1. PFK

2. KDPG aldolase

3. Pyruvate carboxylase
4 Enolase

Options :

878270174029. 1



878270174030. 2
878270174031. 3

878270174032. 4

Question Number : 48 Question Id : 87827044292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

so! UUHH & UHE TellH e

1. UU®hd
2 Harl eslad
3. JRI%de dleiaaay

Options:

878270174029. 1
878270174030. 2
878270174031. 3

878270174032. 4

Question Number : 49 Question Id : 87827044293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following types of cheese utilize Lactococcus lactis in its early stages of production?
(A) Mozzarella

(B).Cheddar

(C).Roquefort

(D).Parmesan

Choose the correct answer from the options given below

(A) and (B) only.

(A), (B) and (C) only.
(A), (B), (C)and (D).
(B), (C)and (D) only

1.
2.
3
4
Options :

878270174033. 1
878270174034. 2
878270174035. 3

878270174036. 4

Question Number : 49 Question Id : 87827044293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i C

Fafaad # O 69 TOR & 9. Id1eH & IR 01 H dacididd didcy & Sugi §iidl 82

(A) FIaT

(B) IR

(C) UFHIc

(D) URAG

4 er Mt foe § § 98l S|
1 ®ad (A) 3R (B)

2 Had (A), (B) IR (C)

3.(A), (), (C) 3 (D)

4 Had (B), (C) 3R (D)

Options :

878270174033. 1
878270174034. 2
878270174035. 3

878270174036. 4

Question Number : 50 Question Id : 87827044294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a pnimary pollutant contributing to global air pollution?

- Carbon monooxide
- Sulphur Oxides

. Sulphuric acid

- Nitrogen oxides

B s B L

Options:
878270174037. 1

878270174038. 2



878270174039. 3
878270174040. 4

Question Number : 50 Question Id : 87827044294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafiRad 5 9 ®F 91 df%e arg Uguul # ZivTeH SR ardl WIyiHe Feus Tei 62

1 Pla GHIHFES
2 Gapi & 35S
3. GoRR® =T

4 F13CeH & TS

Options:

878270174037. 1
878270174038. 2
878270174039. 3

878270174040. 4

Question Number : 51 Question Id : 87827044295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The oxygen liberated during photosynthesis comes from

1. Water

2. Carbon dioxide
3. Hydrogen

4 Chlorophyll

Options :
878270174041. 1

878270174042. 2



878270174043. 3
878270174044. 4

Question Number : 51 Question Id : 87827044295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR YT o SR Had SHeRioH T8l § 31Tl 8

Options:

878270174041. 1
878270174042. 2
878270174043. 3

878270174044. 4

Question Number : 52 Question Id : 87827044296 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-I

(A). Rennin

(). PCR technology

(B). Protease

(II). Coagulation of milk

(C). DNA polymerase

(II1Y. Household detergent

(D). Invertase

(IV). Soft-center candies

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (IV), (D) - (I}

2. (A) - (N, (B) - (1), (C) - (11}, (D) - (IV)

3. (A) - (N, (B) - (1), (C) - (1), (D) - (IV)

4. (A) - (1), (B) - (I11), (C) - (1), (D) - (IV)
Options :

878270174045. 1
878270174046. 2
878270174047. 3
878270174048. 4

Question Number : 52 Question Id : 87827044296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A1 & H1Y G-Il BT e Y

- SSial
(A) IFA (1) 91 Y d@-ie
(B) HieTw (1) Y 1 Tha

(C) SIE-TE Treteag|(1Il) T HTHwiS
(D) 53w (IV) PIHT-F5 Sow
i 6T 7T fadedl H 9 981 SR I |

1. (A) - (1), (B) - (II), (C) - (IV), (D) - (1)
2 (A) - (lll), (B) - {|} {C} (1), (D) - (IV)
3. (A) - (lll), (B) - (I1). (C) - (1, (D) - (V)

4 (A)-(II), {B‘-[EI!}: (C) - (), (D) - (IV)

Options:

878270174045. 1
878270174046. 2
878270174047.3

878270174048. 4

Question Number : 53 Question Id : 87827044297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The sequence of transfer of electrons in Z scheme of light reaction is
(A). Downhill to NADP* reducing it to NADPH +H*

(B). Excitation of electrons and transfer to another acceptor

(C). Through Photosystem Il to uphill to the acceptor

(D). Down the ETS to Photosystem |

Choose the correct answer from the options given below:

1. (A), (B), (C), (D).
2. (C), (D), (B), (A).
3. (B), (A), (D), (C).

). (A)

4 (C), (B), (D

(A).
Options :
878270174049. 1
878270174050. 2
878270174051. 3

878270174052. 4

Question Number : 53 Question Id : 87827044297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FRT HTHTHTT B Z DT H Sadei-l & RIFEaR0 &1 HH o
(A) NADP™ 3fTE T4 NADPH +H* # 3[0afld

(B) SaC I ®I IdoHT 3R G UTel &1 R

(C) FBTRGH || & HIEH T Wid Rl & SURTE
(D) 3. 1. TU. &l Harrad | H Sfuiga
I feu e fasedf § © T8 SR |

1. (A), (B), (C

2 (C), {D}-. (B
3. (B), (A), (D

4.(C), (B), (D

(D
(A
(C
(

)
)
)
A)

),
)
),
)
Options :

878270174049. 1
878270174050. 2

878270174051. 3
878270174052. 4

Question Number : 54 Question Id : 87827044298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is not applicable to anoxygenic photosynthesis?

1. The process does not involve oxygen evolution

2. There is no photolysis of water.

3. Purple sulfur bacteria are anoxygenic phototrophs.
4. Anoxygenic phototrophs grow aerobically.

Options:
878270174053. 1

878270174054. 2



878270174055. 3
878270174056. 4

Question Number : 54 Question Id : 87827044298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffaiad J I SH 9 HYH TiRiS-® THRI YRyl IR TR el oidl 67

1. 39 ulhar § o ol A i T8 &
2 Sdl DI Pl UPI TUe ol aidl o

3. ST GemR ST GRS ® TR &
4 THIFSHS USRI aadig 0 4 9¢d 8

Options:

878270174053. 1
878270174054. 2
878270174055. 3

878270174056. 4

Question Number : 55 Question Id : 87827044299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a disaccharide?

- Maltose

- Galactose
. Sucrose

- Lactose

L

Options :

878270174057. 1



878270174058. 2
878270174059. 3

878270174060. 4

Question Number : 55 Question Id : 87827044299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PofafEa # 4 S 9 SEdHss Tl a2
2 Tdaer

3 gH

4. ddeia

Options:

878270174057. 1
878270174058. 2
878270174059. 3
878270174060. 4

Question Number : 56 Question Id : 87827044300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the correct statement/s regarding Abscisic acid as a growth hormone
(A). It acts as general plant growth inhibitor.

(B). ltis also called as stress hormone.

(C). It inhibits seed germination.

(D). It plays an important role in seed development, maturation and dormancy.
Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).

4. (B), (C)and (D) only

Options :

878270174061. 1
878270174062. 2
878270174063. 3

878270174064. 4

Question Number : 56 Question Id : 87827044300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gis HH & ®U § U8 ofd & aR 1 Uel SYDHYA &1 o8- B

(A) T I UTGY gfs HaI4® & &4 H & dddl 8|

(B) 34 a4 g Yl ®er ol 2l

(C) Tg diel B B Adhal B

(D) T8 sl fqTd, IRUSHar SR Ywal H Hew@qul YiHe! FHE gl

=td fau e fadedl & ¥ 981 SR 4|

1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C)HR (D)

4. @dd (B), (C) 3R (D)

Options :

878270174061. 1
878270174062. 2
878270174063. 3

878270174064. 4

Question Number : 57 Question Id : 87827044301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-lI

(A). Ustilago tritici

{I).Crown gall disease

(B). Puccinia

(I1).Blight of potato

(C). Agrobacterium fumefaciens

(IIl). Loose smuts of wheat

(D). Phytophthora infestans

{IV). Leaf rusts

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IV), (C) - (1), (D) - (11}

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (1), (B) - (1), (C} - (IV), (D) - (I1)

4. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)
Options :

878270174065. 1
878270174066. 2
878270174067. 3

878270174068. 4

Question Number : 57 Question Id : 87827044301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A1 & H1Y G-Il BT e Y

-l

ESlal

(A) Sl 2

(1) T3 fieg T

(B) giFa=ar

(11) 3] 1 Zfofdr

(C) THISTEINGH SHERT

(1) 71g & WY 5

(D) BISCIRNT Ghee~d

(v) guf fesg

I fgu e fadedl f © Tal 3w |

1. (A) - (1), (
2.{ﬁ}—[H-(.
3. (A) - (1), (
4. (A) - (), (

- (IV), (C) - (1), (D) - (1)

-U“l{b}-(”l{D}-UV}
(1), (C) - (IV), (D) - (1)
UV (C)- (. (D) -

Options :

878270174065. 1
878270174066. 2
878270174067. 3

878270174068. 4

Question Number : 58 Question Id : 87827044302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tetracyclin is:

. Primary metabolite

- Hormone

. Enzyme

- Secondary metabolite

A

Options :
878270174069. 1
878270174070. 2

878270174071. 3



878270174072. 4

Question Number : 58 Question Id : 87827044302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. UTYTH® JUTggs

2. g

4. Tgdigd JUUY
Options :

878270174069. 1
878270174070. 2
878270174071. 3

878270174072. 4

Question Number : 59 Question Id : 87827044303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll

(Population interaction) (Characteristics)

(A). Commensalism |((I}. When one species is harmed and other is unaffected

(B). Mutualism (Il). When one species is benefitted and other is unaffected
(C). Amensalism (Il1). When both the species are benefitted
(D). Predation (IV). When one species kills the other

Choose the correct answer from the options given below:

1. (A)- (), (B) - (I1), (C) - (1), (D) - (IV}
2. (A) - (I1), (B) - (i), (C)- (1), (D) - (IV)
3. (A) - (1), (B) - (I11), (C) - (IV), (D) - (It)
4. (A) - (I1), (B) - (1), (C) - (IV), (D) - (1)

Options :

878270174073. 1
878270174074. 2
878270174075. 3
878270174076. 4

Question Number : 59 Question Id : 87827044303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl-1 & 1Y G-Il &1 FeE &

-l -l

(e sia:fean)|(fERa)

(A) TRHIfiaT  |(1) 91T U Wl &1 JH9 9eadl & A GO HHHTad et &
(B) WEIg@Ial  |(Il) O U Wt rHIad Bt & S gt syt gt @
(C) SrERHiforT  |(1) 99 S1RT Honfoat aryif=ad skt &

(D) TRMTEmT (IV) oS T ol gol 1 AR &t &
e I oR T

1.(A) - (1), (B) - (IN), (C) - (li), (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (1), (D} - (IV)

3. (A) - (), (B) - (Ill1), (C) - (IV), (D) - (II)
4. (A) - (1), (B) - (li), (C) - (IV), (D) - ()

Options :

878270174073. 1
878270174074. 2
878270174075. 3

878270174076. 4

Question Number : 60 Question Id : 87827044304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pyramid of energy in an ecosystem is always

1. Upnght

2. Inverted

3. Neither upright nor inverted
4 Can be upnight or inverted

Options :
878270174077. 1
878270174078. 2

878270174079. 3



878270174080. 4

Question Number : 60 Question Id : 87827044304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 33 § Soff & s si el &

1. G
2 el
3. 9 d i1 3R T 8 e
4. Ge1 I1 3eel &1 9odl &

Options :

878270174077. 1
878270174078. 2
878270174079. 3
878270174080. 4

Question Number : 61 Question Id : 87827044305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements about linkage is incorrect?

(A).Genes linked on the same chromosome segregate together.

(B). Frequency of crossing over is proportional to the distance between two linked genes.
(C). Chromosome maps also provide information about linked genes.

(D). Linked genes assort independently.

Choose the correct answer from the options given below:

1. (D) only
2. (A) only.
3. (C) and (D) only.
4. (B) only.

Options :

878270174081. 1
878270174082. 2
878270174083. 3
878270174084. 4

Question Number : 61 Question Id : 87827044305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o s y

eoudl & 91 H Fgfaied 8§ O @F 91 &Y= 7Tad 62

(A) TP Bl U W GEeid S U Ty 3T 81 &l ¢ |

(B) SiF fafmT &1 3MTgfi &1 Yediid SiiF @ sid @1 gl & JHHYId sidl & |

(C) U AHfE Ugatid oiF & IR ¥ 4l SHe R UeH &d 3

(D) Geaiid Sii- ¥da U 4 3fUeg- i ol

=td fau e fadedl & ¥ 981 SR 4|

1.®ad (D)
2 &ad (A)
3. ®4dd (C) 3R (D)
4. &ad (B)

Options :

878270174081. 1
878270174082. 2
878270174083. 3
878270174084. 4

Question Number : 62 Question Id : 87827044306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a left handed helix?

1. ADNA
2. Z DNA
3. B DNA
4. D DNA

Options:
878270174085. 1

878270174086. 2



878270174087. 3

878270174088. 4

Question Number : 62 Question Id : 87827044306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafad & 9 @F 91 aH1adl ed 82

1. T:{ éﬂ"Q

2. 58 S[U-U

3. E'Q[ \:5‘ E". L.]

4 31 3leg
Options:
878270174085. 1
878270174086. 2
878270174087.3

878270174088. 4

Question Number : 63 Question Id : 87827044307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The species that invade the bare area are called

1. Primary species
2. Pioneer species
3 Invader species
4 Climax species

Options :
878270174089. 1

878270174090. 2



878270174091. 3

878270174092. 4

Question Number : 63 Question Id : 87827044307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST WalA R S{HHU - dlcil Sliadl &l el il &

1. U Sifad]
2. ST Shfaar

3. HTPHUGNR] Alidy
4. 93 J1fedr

Options:

878270174089. 1
878270174090. 2
878270174091. 3

878270174092. 4

Question Number : 64 Question Id : 87827044308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The sequence of steps for sewage treatment is
{A).Chlorination

(B).Screening and transfer to grit chamber
(C).Sedimentation and Aeration

(D). Anearobic sludge digestion

Choose the correct answer from the options given below:

1 (A), (B), (C), (D)
(B), (A), (C), (D)
(B), {C (D), (A).
4. (C), (B), (D), (A).

Options :

878270174093. 1
878270174094. 2
878270174095. 3
878270174096. 4

Question Number : 64 Question Id : 87827044308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



difedad UIR & W T HIHH &
(A) FARHIHI
(B) ©eTs 3R fle otk # FiaT

(C) 3f@Tre 3R ara-

(D) ST HUD i

=td fau e fadedl & ¥ 981 SR 4|

1. (A), (B), (C), (D

(C). (D)
2. (B), (A), (C), (D)
3. (B), (C), (D). (A)
4. (C), (B), (D), (A)

Options :

878270174093. 1
878270174094. 2
878270174095. 3

878270174096. 4

Question Number : 65 Question Id : 87827044309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RNA Splicing is a process:

1. involving removal of introns after transcription forming mRNA
2. unigue to prokaryotes.

3. involving insertion or deletion of nucleotides into mRNA

4 involving silencing expression of genes

Options:
878270174097. 1

878270174098. 2



878270174099. 3

878270174100. 4

Question Number : 65 Question Id : 87827044309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[

HRUAT Y9 U uispar & forgd

1. THSRUAT FHU $d U URiciE- & 915 3¢i- & geHI Ui g
2. Ui dhsb] & feTU 37
3. THRUAY § fddies gy ®f WiHied -1 91 ge¢H Y &

=

4 S BT T iy wiEfed §

Options:

878270174097. 1
878270174098. 2
878270174099. 3

878270174100. 4

Question Number : 66 Question Id : 87827044310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following enzymes is a high fidelity thermostable polymerase?

1. Tag DNA polymerase
2. Pfu polymerase

3. Klenow fragment

4 DNA pol |

Options :

878270174101. 1



878270174102. 2
878270174103. 3

878270174104. 4

Question Number : 66 Question Id : 87827044310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafea & € o1 91 taey ue 3= foys gt gl 22

1. ¢H SITAE UIdiE
2 Ul U®% g Ulcit
3. foei |vs

4. SITL UId

Options:

878270174101. 1
878270174102. 2
878270174103. 3

878270174104. 4

Question Number : 67 Question Id : 87827044311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Shine Dalgarno sequence plays an important role in

1. Inttiation of transcription

2. RNA splicing

3. Initiation of translation

4 Regulation of gene expression

Options :



878270174105. 1
878270174106. 2
878270174107. 3

878270174108. 4

Question Number : 67 Question Id : 87827044311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RT3 SATH! 4 (9 T U gew@yul Y Ay s

1 Ufdog & Uy §

2. 3RU-Y ey §

3. a6 & Ry o

4. i e o fafgaa o

Options :

878270174105. 1
878270174106. 2
878270174107. 3

878270174108. 4

Question Number : 68 Question Id : 87827044312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a food chain man is

1. Only primary consumer

2. Primary as well as secondary consumer
3. Only secondary consumer

4 Tertiary consumer

Options :



8782701741009. 1
878270174110. 2
878270174111. 3

878270174112. 4

Question Number : 68 Question Id : 87827044312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U T Jac H A §

1. Had uufa® JuHiadl

2. Tt AR fadias Iudiea
3. ®ad fgargd Juyiad

4. gdad Juyied

Options :

878270174109. 1
878270174110. 2
878270174111. 3

878270174112. 4

Question Number : 69 Question Id : 87827044313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What would happen if phytoplankton of an ocean is destroyed for some reason?
(A).The ocean as carbon sink is adversely affected

(B). The ocean ecosystem is not affected

(C).The density of ocean is drastically decreased

(D). The food chains in the ocean are adversely affected

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C)and (D).

4 (A),and (D) only.

Options :

878270174113.1
878270174114. 2
878270174115.3

878270174116. 4

Question Number : 69 Question Id : 87827044313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ofc 4 ASHIR & UGy Wad @ [l BRI H AF @1 (G4l o df ol g2

(A) ®Ta- id & 9 T IR Ufded ©9 4 uyifad ghm|
(B) TeTFR Uiifyfas! 47 gwifad 11 ghm|

(C) FETHFR &1 9 ®IH! HH ol S|

(D) T H We] §Ead Uiidd U I WHIfad g
I feu e fasedf § © T8 SR |

1.@4ad (A), (B) and (D)
2 &4dd (A), (B) and (C)
3. (A), (B), (C) 3R (D)
4. @ad (A) 3R (D)

Options :

878270174113.1
878270174114. 2
878270174115.3

878270174116. 4

Question Number : 70 Question Id : 87827044314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The genotypic and phenotypic ratio of F2 generation is the same in which of the following situations?

1. Codominance

2. Multiple alleles

3. Incomplete dominance
4 Recessive epistasis

Options:
878270174117.1

878270174118. 2



878270174119. 3
878270174120. 4

Question Number : 70 Question Id : 87827044314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F2 U] &1 SiHuedl SR Taomedl e FafaRad & € ey fufa & gam 82

1. HguHIfddr
2. 9g faddl
3. gl gyifaar

Options:

878270174117.1
878270174118. 2
878270174119. 3

878270174120. 4

Question Number : 71 Question Id : 87827044315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct about nitrogen fixation?
{A).Nitrogenase is the key enzyme for nitrogen fixation.

(B).The process involves conversion of nitrogen to nitrate.

(C). The process takes place in the presence of oxygen.

(D). Some plants can also fix nitrogen.

Choose the correct answer from the options given below:

1. (A) and (B).

2. (A) only.

3. (A) and (C).

4. (C)and (D) only.

Options :

878270174121.1
878270174122. 2
878270174123.3

878270174124. 4

Question Number : 71 Question Id : 87827044315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FofafEad 5 9 o1 9 Y e e & 9R § Ul 82

(A) TECoS Agerer RUIEHR & e 9qd Teed o

(B) 39 Ufgha1 T 15 ioM @I Algce H Ui JMH o
(C) Ufsrar Sieiiom &1 Jufufd & sidt 5

(D) T Q1Y Ai5cioH @ 4 fRR & 9@ d Bl
I feu e fasedf § © T8 SR |

1.%ad (A) 3R (B)
2 &ad (A)

3. (A) 3R (C)

4 ®dd (C) 3R (D)

Options :

878270174121.1
878270174122. 2
878270174123.3

878270174124. 4

Question Number : 72 Question Id : 87827044316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sodium dodecyl sulphate used in SDS-PAGE is

1. An anionic detergent
2. A cationic detergent
3. A non-ionic detergent
4. An ion exchanger

Options:
878270174125. 1

878270174126. 2



878270174127.3

878270174128. 4

Question Number : 72 Question Id : 87827044316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s - - - - - =
UHSITH-Usl H Ugdd HilgdH Sledigd Helbd B

BTG HYHND
YIS HUHE S
AN HUHSS

AW N -

Options:

878270174125. 1
878270174126. 2
878270174127.3
878270174128. 4

Question Number : 73 Question Id : 87827044317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are not fermentative food products?
(A). Dosa

(B). Kefir

(C). Kimchi

(D). Pasta

Choose the correct answer from the options given below:

Options :

878270174129. 1
878270174130. 2
878270174131.3

878270174132. 4

Question Number : 73 Question Id : 87827044317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fgfeRRaa & 9 o4 9 GraaaR! @k 3dK Tal 82
(A) SHT

(B) BB

(C) o=t

(D) G

=td fau e fadedl & ¥ 981 SR 4|

1.%ad (C) 3R (D)
2. ®4dd (D)
3. ®4dd (C)
4 ®4dd (B) AR (C)

Options :

878270174129. 1
878270174130. 2
878270174131.3

878270174132. 4

Question Number : 74 Question Id : 87827044318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The resistance of bacterial endospore to adverse environmental conditions is due to

. Peptidoglycan containing cell wall.

- Spore DNA.

. Presence of Dipicolinic acid

- Presence of thermostable enzymes.

B s N

Options:
878270174133. 1

878270174134. 2



878270174135. 3

878270174136. 4

Question Number : 74 Question Id : 87827044318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wicpd TaiaRuiyg Rl & Wid S S-S &1 TRy 34 RO Bldl &

1. UfpsiaEe Nad i iRk gk g
2. TSI STET
4 gl gl 13Uyl

Options:

878270174133. 1
878270174134. 2
878270174135. 3

878270174136. 4

Question Number : 75 Question Id : 87827044319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the correct statement/s regarding thin layer chromatography

(A). It has two phases, one mobile phase and other stationary phase

(B). The relative movement of each component of a mixture is expressed as Rf value
(C). Spots of compounds which adsorb iodine will show up as green spots

(D). The spots of colourless compounds are detected by putting the plate in IR light
Choose the correct answer from the options given below:

1. (A
2. (A
3. (A
4 (B

,and (B) only.

. (B) and (C) only.
. (B), (C)and (D).
. (C)and (D) only

i M i ™

Options :

878270174137.1
878270174138. 2
878270174139. 3

878270174140. 4

Question Number : 75 Question Id : 87827044319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Uddil Ud quicifad! & day § el SY-/HyAl &l 9=

(A) 390 &l TR &, T TR 90l 3R GO R TR0

(B) YU & U e &1 TIg T1d & Rf A & ¥4 § odad [dl 9dl &
(C) TS BI T B dc TR & ¢ed T Heal D ©U H [GWE ad §
(D) TIE I 3aad TR H SIADH Wl A1 & Yss &l Idl o al oidl &
i feu e feeedl § ¥ T8t SR I

1_®ad (A) 3R (B)
2 &ad (A), (B) 3R (C)
3.(A), (B), (C) ¥R (D)

4 ®ad (B), (C) 3R (D)

Options :

878270174137.1
878270174138. 2
878270174139. 3

878270174140. 4



